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PART I Grammatical Structure (20 minutes)

Section A (1 mark each)

-Directions: There are 10 items in this section. There
are four words or phrases, marked A), B), C), D), beneath
each sentence. Choose the one word or phrase that best
completes the sentence. Mark your answer by blackening
the corresponding letter on the Answer Sheet with a pencil.
Example: I have been to the Great Wall three times
' 1979.

A) from

B) after

C) for : Y

D) since

' T
sioy A d

Sample Answer

ABC @

#




(413

6.

His explanation muade the problem ______ .
) cven more complicated

B! to be even more complicated

) that it became ¢ven more complicated
D) be even more complicated

“I'm not going to buy that hook.”

Ce . 15 too expensive.”

Ay 1 don t cither .. -
B) So am 1 | o

QC)\ Néither am |

D) I am not too

Anderson was disappointed when he found out lhey
had gone to the test-site ______ him.
\}  except

‘B)  except for

€ bui

dg) withom

“Would you rather watch T. V. or go for a walk ?”
the T: V. program is good this afternoon, 1
thipk I need the exercise -more.”

A\ Even though

B; No matter how
C) Despite of

7

D) In spite of

-———— You are Irec tonight, why not drop in and play
chess with me ?

A} For

B) Since
C;  Because
D} Even if

I haven'c scen Mary these past 1ew days. I’'m afraid

g L]



she herseli for some time.
‘A). hasn't been tecling

B‘) hadn’t been fecling

~Cy oisn't fecling

D) wasn't feeling

7. Sam knows a hiologist Cowns a well-equipped
laboratory.

A) whom
B;  who
() by whom
D) to whom

®. He couldn’t remember .
A) what was the formulae
JB) what thc formulac was

M AN

LR VR UL B
C‘) what were the formulac
DY what the formulae were

. \ NN vt

9. In computer programming, 1Lus mo(lcl Ls i ilo

any of the others we have in the d(p,u(m(nt
A)  obvious superior.

o Co sy cintle
B) suaperior ob\musl\ e e

t{;‘_) obviously supcrior
D) superior obvious

. - .
ras i P

10. John and Tony arc both very lcarnc(l l)ut H.ury is
the _____ onc.

o . N ?":J 3t P TS B
A) morce cleverer o 2 L
B) cleverer ‘ "
Ay clévetest P e .

D) more clever

Section B (1 mark each) C e e e

l)lr(umm There are ten sentences® in this \cctlon Each

seutence has four parts underlined, The four under:

P ()

EEEE S S B



lined parts are marked A), B), C), D). Identify the one
underlined part that is wrong. Mark your answer by
blackening the corresponding letter on the Answer Sheet
with a pencil.

Example: A number of foreign visitors were taken to the

A (B)
industrial cxhibition which they saw many new
(& (D)
products.

Sample Answer

AB @ Q:

Answer C) ‘“which” is wrong because the sentence
should read, “A number of foreign VlSltOl‘S were tak\en to
the industrial exhibition where they saw many new pro-
ducts ?” So you should choose C).

. She put forward the suggestion to the dlrector who,

@) e

after discussed it with other comrades, decu{ed to

(© o
accept it.

12. I didn’t mind their coming late to the lecture, but I
H (A) (B) . ) ‘- .i"' Piit o N i
objected their making so much noise. c

— - L A L
(C) (D)
13. Don’t leave the books on the desks. Put thcn back
(A)
immediately where they belong to.
(B) (C) (D)

“'._-,QLIX by practice will you be able to improve your
(A) (B)

« 10



15.

16.

17.

18.

19.

20.

speaking English and gradually speak fluently.
(€) (D)
Under no circumstances we should do anything that

(A (B) (C)

will benefit ourselves but harm the interests of the state.
(D)
I had to work last Sunday because 1 have been.asked
(A) - (B) (C)
to write an article for a magazine. o
(D) :
Would you consider to give her another five minutes
Ay (B)
before giving up waiting for her altogether ?

(C) (D) 3
The old man is in the habit of going for a walk alqng
Ay . (B) e (O
the river every morning except it rains. .
(D)
Loudspeakers werc fixing in an adjoining hall so that
(A) (B) - (€)
more people could have an opportunity to hear the
D)

speech.

He asked me a second question before .1 couldn’t
(A) L ¢

answer % first one. ) S S

© O L



PART II Vocabulary And Reading

Comprehension (60 minutes)
Section A Vocabulary (I mark each)

Directions: There are 20 questions in this section. Each
sentence has a word or phrase underlined. There are
four other words or phrases beneath each sentence.
Choose the one word or phrase which would best keep the
meaning of the original sentence if it were substituted for
the underlined part. Mark your choice by blackening the
corresponding letter on the Answer Sheet with a pencil.
Example: The initial step is often the most difficult.
A) _cil—i—c'Eest
B) longest
‘C) last C e
D) first .
Sample Answer
A B C @

" 'The best answer is D) because ‘““first” has the' same
meaning as ‘‘initial” in this sentence.
21. He'll finish reading this passage in no time. -
A) without any pause & o
B) within the time allowed
C) on time
D) right away
22. Our petrol ran out.

v 12 .



23.

24.

25.

26.

(23
-1

S’

was used up

leaked out

) flowed out

) was sold out

We cannot rule out that possibility.

A) underline

B) exclude

C) make out

D) work out

Their sole fault was a failure to recognize all the factors

o>

o

involved.

A) maximum

B) wusual

C) initial

D) only

We found hundreds of phonograph records that were
worn out.

. A) old-fashioned

B) no longer usable

C) for display only

D) well known

The winner will be selected at random.
A) by interview

B) by testing

C) by chance

D) by competition

. They met to consider the drawbacks in the proposal.

A) misgivings

B) shortcomings
C) probabilities
D) details

« 13 o



98. The two copper mining companies will be merged

soon. \

A) combined
B) reorganized
C) operated

D) bankrupted

29. Despite dangers and dlfﬁcultxes the soldiers were

resolute.

A) uncomplaining
B} untiring

C) well-disciplined
D) determined

30. Marco showed us his diagram of the machine.

A) insides
B) screws

- Q) sketch

31

D) masterpiece

. How many radios will this factory turn out this year?

A) throw away
B) export
¢C) manufacture

D) sell

82. However appropriate his remarks were, he should not

have shouted.
“A) amusing
'B) suitable

C) interesting

D) important

33. Mary passed out at the cinema yesterday aftemoon

A) died

B) lost conscicusness

. 14 -



. 34.

35.

36.
‘A) assumption

37.

C) went past me

D) disappeared

Tom’s prediction that there would be an earthquake
dlsmayemends.

A) verification

B} evidence

C) prophecy

D) " reflection

The senator agreed that his support of the measure
would jeopardize his chances for reelection.

A) assure

B) increase

C) endanger

D) destroy

That’s a very interesting hypothcsm

B) hazard
C) solution
D) result ~
Professor Clark contmucd hxs rcscgrch work and

o

disregarded - his colleague’s advice.

A) ignored

- B) deplored

38‘

C) explored

PR

‘D) implored

The clerk had. to break off the convcrsatxon in order
to wait on a customer.
A) continue

B) stop

C) hurry

D) begin

b

o 1bH .



39, What is the scope of this andertaking ?

A)  respect
"jB‘) purposc
C) dide

D) extent

40. The gift was {rom an anonymous person.

A) ignored T

B) unremembered ,

<Gy unrewarded . S e ; s

D) un-nained ~
Section B: Reading Comprehension (1 mark cach)
Directions: In this scction there arce passages-followed by
auestions or unfinished statements, cach with four suggesied
answers. Choose the onc you think is the best answer.

Mark your choice by b]ackemng the - correspo‘ndmg lettdy
on the Answer Sheet with a pencil. = vvoven A

Questions 41-43 are based on the followmg A
Two miners trapped 100 feet underground:for 24- days
in a collapsed gold mine were rescued today:'-:Both were
rifddy ‘but smiling when, wrapped in: white bed ‘shect§
they were carricd out of the mine on ‘stretchers;
41. What had happened to the two miners?:-
A) They dug 100 feet into a gold mine in 24 days.
B)  They mined 100 feet of gold in 24 days.
C) They collapsed in a gold mine 100 feer underground.

D) They could not get out of a gold mine for 24 days.
42. Why were the miners smiling 2 - e

A) They were rescued. G
B) They were muddy.

C) They had been wrapped in sheets.
D)} They had found gold.

:
[
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